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Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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For question 1 to 10, the answers must be expressed in integer or decimal.

HEI1Z10E, EXVAMEHSH /MR

1)

2)

3)

4)

5)

6)

7)

8)

9

10)

396 -~ 11 =7

125 X 24 =7

(362 +272 + 4) X 2=9

(867 — 788 + 369) + 28 =2

20900 x 0.001 =?

0.005 X 400 = ?

3.18+32.6 =7

0.797 - 0.031 =7

6.5 X 0.78 =7

0.81 X 3 X 0.28=7?
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For questions 11 to 15, the answers must be expressed in proper
fraction, integer or mixed number.

BE 11 Z215&8, ERVAUETH. BHAFITHERT.

3 5 1
—_— Yt — — — =9 )
11) Tts 7 [1%]
11 3
12 — X 4—=29 1%
) 125 48 . [1%]
1 0
13) Sz E12=" [1%]
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4y (L. .8 _, [1%]
7 21 9
1 7 7
15 — =+ (90— - 88— |=7? 1%
) 3 (9012 889) : [1%0]
16) How many vertices does the following 3-D shape have? [2%]

U TiIEBERAESZ DETE?
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17)  The lengths of the three sides of a right-angled triangle [2.1%]
are 85 cm, 51 cm and 68 cm respectively. What is the
corresponding height of the triangle in cm if the side with
length 68 cm is chosen as its base?

—EER=ATRN=1%E2n kK 85 K. 51 EXF 68
[EX. NREN 68 EARRHER=ATNK, SHE
HNEsZDEX?

18) Round off the number 29 594 530 to the nearest hundred [2.2%]
thousand.

15 EF 29 594 530 BURUMEE+E L.
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19) ' Find the area of the following parallelogram in cm?. [2.3%]

AT HTHEFEEERZ D FFEX?

|[e— 32 cm —»]

T

|

|

24 cm 30 cm
I
14 cm
3 . :
20) 1 55 kilometres = ? centimetres [2.4%]

3

/N — 9 sz
125 NIz} ) JEXK
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21) Each kilogram of pineapple costs $40.20. The price of a [2.5%]
dozen eggs is $2.80 less than that of 1 kg of pineapple. If
Doris buys 12 eggs and 1 kg of pineapple, how much does
she pay 1n dollars?

HEBAFTE402xT. —1TENEELL | A EZER
EEND 28 T, ﬁﬂ%/J\ffE TREEMI ATKZE .,
whE(FTIE DI

22)  The figure below shows a cube and its net. Draw the missing [2.6%]
shape of the cube.

TEREEEFERAENERELR. EHRENE
£
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23) If the perimeter of the following figure is 54 c¢m, find its [2.7%]
area in cm?.

MRUTEFEHNEARAZ S4EXRK, HEFEEZVEA
J'E \Y V4 ?

16 cm

10 cm

13 cm

10 cm

24) Each pack of sugar weighs 0.28 kg, sold at a price of [2.8%]
$6.80. The weight of each pack of saltis 1.15 times that of
sugar. What 1s the weight of 15 packs of salt in kg?

HEEEI2SAT, EELEB 68 TT. BEEBENES
BHEM LIS E. 15 88EZDAR?
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: : 6 :
25) There was a pizza weighed - kg on a table. Annie ate [2.9%]
% of the pizza, then Billy ate % kg of the pizza. How

many kilograms of pizza was left?

o EA—18 — ARERE. AZET o @

1 ] s oo Ly
RBNENCT — AT HE. ERTHESS DAT?

26) The area of a triangle is 8% cm? . If its height is 1% cm, [3.0%]

find the base of the triangle in cm.

%E%%mﬁ%%&%$ﬁE%OW%EmE%
ﬁ%@%,m@zm%mﬁézw@~?
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27) The figure below is formed by a parallelogram and two [3.1%]

squares of side length 5 m. Find the area of the parallelogram

in m?2.

TEZH—EETLERMBEZER 5 KRIERFEH
Mmp. METOEEHNEERZ DERK?

28) The figure below is 6 circles with diameter 20 cm. Find the [3.2%]
area of the shaded region in cm?.

TEZ EEER 20 EXNE. BEABTHEIER

ZEHFEK?
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1
29)  There are 912 students in a school. 3¢ Ofall the students are [3.3%]
girls who join drama club. The number of boys 1s % of that
2
of girls in the school. If 57 of the boys in the school also

join drama club, what is the difference between the numbers

of boys and girls in the club?

B 012 BBE ., ST BB ML E S NBE
5 . BNBEABRLEASN L. MERNE
£ S SMT I MEENSE ART%
EANERERZD?

P10
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4
30) If the sum of the side lengths of a cube is 28 3 cm, what [3.4%]
is its total surface area in cm?2?
At + 4 sz [ |
MRETFFERNEREMZ 28? [EX, AEETERIAE

RAEHES DT HEK?

31) Find the value of 0.125 x 182 + 12.5 x 0.485+ 1.25 x 1.33.  [4.0%)]

K 0.125 x 182+ 12.5%0.485+1.25 x 1.33 Hy{& .

P11
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32) Each subway train and each light rail train has 8 cars and [4.1%]
3 cars respectively. The number of subway trains is twice
that of the light rail trains. If there are 456 cars in total,
how many trains are there?

ByiEy EfEy | E S B 8 &if1 3 EiEEE.
S BERNEE BRI ENME. SEEAERET
456 &, BEFHNEZDF]?

33) Find the units digit of 3202, [4.2%]

Kk 329 YA hL{E.

P12
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100 N 98 N 96
337 337 337 7 337

1 N 2 . 50
2022 2022 2022

34) Find the value of [4.3%]

100 N 98 N 96 - 2

. 337 337 337 7 337

X A&
1 2 50

2022 "2002 T 202

P13
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35) How many 3-digit numbers are multiples of 9 and 12, but [4.4%]
not multiples of 8?

BEMME=AEZ O F1 12 HIEE, BAE 8 HIEE?

36) A number has only 3 factors. If the sum of its factors is [4.5%]
871, find the number.

XHAAE 3 AR BENEEAIE 7], KEL.

P14
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37) At most how many triangles can be drawn by connecting [4.6%]
the 3 dots on the figure below?

FANTESRNHE S 38, REATUEHSME=A

fiz?

38) Given that the sum of the days of all Mondays in March is [4.7%]
70 1n 2022. What is the sum of the days of all Mondays in
March in 2023?

241 2022 FZAMBEH—NBEEZFE 70. AE
2023 FZ AMEESR—HBEHZMESD?

P15
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39) Arectangular track is 250 m long and 150 m wide. Yanny [4.8%]
puts a bean bag at a corner of the track as the starting
point. She walks 5.1 km clockwise and then 5.1 km
anticlockwise. If a bean bag is put for every 30 m walked,
how many bean bags are there at the starting point?

—iR R AMEER 250 K, 150 K. DRFERIER
Hp—aN—EAEREREE. IERHES1IQE,
RBFERFEES1 AE. HETEIORKRN—EZR
BEMEERE ME?

P16
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40) In the figure below, the area of AABC is 420 cm?2. Given [4.9%]
that AD = DB, BE = EC, EF = FC. Find the area of
quadrilateral GHFE in cm?.

TE$ AABC IEFER= 420 L HEX. E M
AD = DB, BE = EC, EF = FC. &% GHFE B

BEEZDFTEK?
A
D
G

End of paper
£E5T

P17




MAY VIRTH g=.-28c%5
IVEY CONCEPTITION

REG NO

NAME

GROUP

P5

SEAT

ANSWER SHEET
7 77.6/
1 36 O 11 § O 21 77 60 1O 31 10 O
3
2 3000 O 12 61_0 O 22 @ O 32 79 O
11
» 860 ol — 0= 154 0> 9 o
4 16 o* 3 o 4.83 o * 12 O
19 13
2
6 2 O 16 0 O 26 8g O 6 341 O
7 35.778 Ol|" 51 o)k 95 O ¥ 109 O
g (.766 O 18 29 600 000 O 28 1400 O 38 66 O
° 5.07 |gl® 336 |/ 10 |o/®* 6 |p
14
10 (0.6804 || 112000 |~ |30 342 |o|” 49 o

‘  [o]o]e]e] [e]e]0le] (0l0]0)6] (o]6]e]e] [o]e]e]e] (6]e]0]6] (o]6]e]e] [o]ele]e] [e]6]6]6] [ele]ee)



